FERE A=A PISCO

B4R R
R R T R A A O B oA B E IR EOAE S - SRR A TIE Tk

WA Eon

A HEACER -

VH H 07— 6 01 4 J F A

T 11 1 17 1T 7T
1 2 3 4 5 6 7 8 9

10
(1 il OniEISE(PD) © fEE VY
Otz N - 4 od4mm
H: SEZEA L KERE @ (S
O 11K ODESETFLHINE = (VYR
(RMERED SR IEMEORAET - AT ESKAZTERBARENEX) -gm:éi;gmmlkﬁﬂgﬁﬁiqjﬁﬁﬁﬂ
M | KT |HAUEZ2 R /i A i | LB 2 /i AT B | ERVELZ2 /R AT e
03 [3mm| —0.09 MPa, 24min | —0.066 MPa, 4 émin| —0.088 MPa, 1 dmin @,E'i“;@fs D EEEAVY R
——[VONE—0.066 MPa, 7 4min . F : Hi@IER
04 |4mm| —0.09 MPa, 4 ¢/min VC.VM:— 0,066 MPa, 7.5 dimin —0.09 MPa, 2 ¢min EECE ¢ AEEIEGR,
05 [5mm| —0.09 MPa, 7 ¢min | —0.066 MPa, 12¢min| —0.09 MPa, 3 ¢min .
OFfHnshse :
07 | 7mM_ 05-0 0930Pa, 125~13min ‘2_-86060%§%§Z"E§j’mi“ ~0,09~0.092 MPa, 10~10.54min J PR IAE (FUSEVH. VS, VU]
—0.092MPa, 12.5 4min| ¢~ 0050 V22 P84 | —0.09 MPa, 9 4min A : E]SMER (fEVURD)
10 |10mm| —0.93 MPa, 28 #min | —0.066 MPa, 42 dmin| —0.92 MPa, 21 éimin O Sk - EEEHVY R
AN
12 [12mm| —0.93 MPa, 38 #min — —0.92 MPa, 27 dmin 3355%FH*§H§*%§ (BLHEVH. VS. VU. VCEERAL
15 [15mm| —0.93 MPa, 63 #min | —0.066 MPa, 95 4min| —0.92 MPa, 42 dmin *E*% .
—0.93 MPa, 104 ¢/min |—0.066 MPa, 174 dmin| —0.92 MPa, 82 ¢/min .
20 |20mm AR 25
SKEREMARER ) - HAL ~ LAVE05 MPa ; EAIE3.5 MPa - {FHREHEE 0.15~0.7 MPa
O ELZ(V)HIELE SEE B S 0.5 MPa(0.35 MPa)
% (mm) fERREEE 0~+60°C
ek (180 3 4 6 8 10 | 12
R~f |18| 63 | 64 | 66 | 8 | 610 | 612
P NES B ISR
fiTt M3 M5 M6 01 | 02 | 03 VB
5] |M3x05|M5x0.8| M6x 1.0|R1/8 | R1/4 | R3/8 e
J— SRS EEBZRRE - S0V
@1:/':'\:;_?‘\(P)EIJD{§§ : Box Type Uﬁon Box Type U:on =
L with Vacuum Switch
B 2N (mm) <
6 8 10
Mk | 2 | 3 | 4 [ 6C | 8C [10C
6L | 8L [10L
R~ | 62 [ 63 | ¢4 [ 66 | 68 [610 P
PECE LA s - -
- NiICR B BRI e I
Aii% | M3 | M5 | Mé | 01| 02 03 vBOOO-VPP VBOOO-VPS
R~F |M3x0.5|M5x0.8| M6x1.0|R1/8 |R1/4 | R3/8 VBHO05-44P | VBLO7-66P | VBH05-44S | VBLO7-66S
VBHO7-66P | VBL10-66P | VBHO07-66S | VBL10-665
et . VBH10-66P | VBEO7-66P | VBH10-66S | VBEO7-66S
*%JE VBH12-66P | VBE10-66P | VBH12-66S | VBE10-66S
BER(EX)A VBL05-44P | VBE12-66P | VBL05-44S | VBE12-66S

Exhaust port

(gﬁe?cggéri??gﬁﬁny\ formal) Vu SM

ap (aluminium) . 22 (EIR=10
° h - Dﬁaser gmcke\flate)d brass) %*ﬁiﬁggﬁﬁ Eﬁ
// g Aae Mechanical Vacuum Switch

[
~Resin body (polybutylene terephthalate)
BEST(REH)

- Lock claws (stainless steel)

BER(EX) A

Exhaust port ~

AZE(V)f
L — Vacuum port
C s
SRR o N
Metallic body (nicket-plated brass) N \\ Release ring (polyacetal) Z{Ljfﬁ
Ya SO SBEEEB(NBR) VUSM10-¢ D
RERILHS (P){8I Air supply port / =y, Elastic sleeve (nitrile rubber) VUSM10-4 | VUSM10-6

I (SR80 54) \Oiui;%(NBR) 0O-ring (nitrile rubber)

Nozzle (nickel-plated brass)

/M mindman



FEEAEEERR

PISCO

7o % 4 58 £ OOft E oW
Nk re i) B e bl B
VU
BiERE EX E?ﬁii& EX SHEHER B iR E HER HER
= Gkl Silencer Vent Concentrated Pipe Type PR
Direct Mounting Type | Dlrec( MO“"""QTYPQW ) Exhaust Straight V| Pipe Type \
Elbow Straight | i o s b EX Straight
4 Concentrated
o) (" ~ (e (‘ F - V7 (¢ Exhaust .
' PO |
v ﬁ ' EX
=) v oEx [P v P b oewe y| P EX
k=N LY 1E=¢ U= LY A
VHOOO-VP vsodd-ve VY[[I-V-P-PD VY[O[I-V-P-PD-J vuorm-ve vuor-ved
VHHO05-4M5 [VHL15-802 | VSH05-601 |VSL15-802 |VYH05-444 [VYL07-444 | VYH05-444J [VYL07-444J |VUH05-M54A [ VUL05-M66A | VUH05-M54J | VUL05-M66J
VHH05-601 | VHL15-1002 | VSHO7-601 | VSL15-1002 | VYH05-666 | VYLO7-666 | VYH05-666J | VYL07-666J | VUH05-M56A | VUL05-014A | VUH05-M56J | VUL05-014J
VHHO7-601 | VHL15-1202 | VSH10-601 | VSL15-1202 | VYH07-444 | VYE05-444 | VYH07-444J | VYE05-444J | VUHO5-M64A | VUL05-016A | VUH05-M64J | VUL05-016J
VHH10-601 | VHL20-1002 | VSH10-801 | VSL20-1202 | VYH07-666 | VYE05-666 | VYH07-666J | VYE05-666J | VUH05-M66A | VULO7-M54A | VUH05-M66J | VULO7-M54J
VHH10-801 | VHL20-1003 | VSH12-601 | VSL20-1203 | VYL05-444 | VYE07-444 | VYL05-444) |VYE07-444J | VUH05-014A | VULO7-M56A | VUH05-014J | VUL07-M56J
VHH12-601 | VHL20-1202 | VSH12-801 | VSEO7-601 | VYL05-666 | VYE07-666 | VYL05-666J | VYE07-666J | VUH05-016A | VULO7-M64A | VUH05-016J | VULO7-M64J
VHH12-801 | VHL20-1203 | VSH15-802 | VSE10-601 VUHO07-M54A | VUL07-M66A | VUH07-M54J | VUL07-M66J
VHH15-802 | VHE07-601 | VSH15-1002_| VSE10-801 VUHO07-M56A | VUL07-014A | VUH07-M56J | VUL07-014J
VHH15-1002 | VHE10-601 | VSH20-1202 | VSE12-601 VUHO07-M64A | VUL07-016A | VUH07-M64J | VUL07-016J
VHH20-1002 | VHE10-801 | VSH20-1203 | VSET2-801 | ‘HEEHESRLAY EEP?#%L& VUHO07-M66A | VUEO7-M54A | VUH07-M66J | VUEQ7-M54J
VHH20-1003 | VHE12-601 | VSL05-601 | VSE15-802 AR A 2R VUH07-014A | VUE07-M56A | VUH07-014J | VUE07-M56J
Silencer Vent Concentrated Exhaust
VHH20-1202 | VHE12-801 | VSL07-601 | VSE15-1002 Vacuu ter Vecup Fiter VUHO07-016A | VUEO7-MB4A | VUH07-016J | VUEQ7-M64J
VHH20-1203 | VHE15-802 | VSL07-801 | VSE20-1202 VUL05-M54A | VUE07-M66A | VUL05-M54J | VUEQ7-M66J
VHL05-4M5 | VHE15-1002 | VSL10-601 | VSE20-1203 VULO5-M56A | VUE07-014A | VUL05-M56J | VUE07-014J
VHL05-601 | VHE20-1002_| VSL10-801 PD M }? VULO05-M64A | VUE07-016A | VULO5-M64J | VUE07-016J
VHLO07-601 | VHE20-1003 {’
VHL07-801 | VHE20-1202 \Y
VHL10-601 | VHE20-1203 HIZ I
VHL10-801 VYO O-V-P-PD-F VYO O-V-P-PD-J-F gﬁﬁ%ﬁﬂ gﬁfﬁg
VYHO5-444F | VYLO7-444F | VYHO5-444JF [ VYLOT-444JF | (10 "0 v Poo Ty v
VYHO5-666F | VYLO7-666F | VYHO05-666JF | VYLO7-666JF Union Straight
VYHO07-444F | VYE05-444F | VYHO07-444JF | VYE05-444JF Concentrated
VYHO7-666F | VYE05-666F | VYHO07-666JF | VYE05-666JF
VYL05-444F | VYEO7-444F | VYL05-444JF | VYEO7-444JF
VYLO05-666F | VYEO7-666F | VYL05-666JF | VYEO7-666JF | P b oewe |P EX
Concentrated Exhaust Concentrated Exhaust vuOdoo-vP vuOooo-ve
BiEEs EX HEREEX EX VYRS VYBRIE 4R VUH05-44A_ | VULO5-64A | VUH05-44J | VUL05-64
E’EE%@: SRk HEEEIE R Only for VY Type Bracket VUH05-46A | VUL05-66A | VUH05-46J | VUL05-66J
L Direct Mountlng Type Only for VY Type
Direct MounxingTypeffi Tl Straight Al Vacuum Filter VUH05-64A [ VULO7-44A [ VUH05-64J | VULO7-44J
Elbow Concentrated  V VUH05-66A | VULO7-46A | VUH05-66J | VUL07-46J
Elbo etes Exhaust ¢D. VUHO07-44A_|VUL07-64A | VUH07-44) | VUL07-64J
Exhaust - - -
M $D, VUH07-46A | VULO7-66A | VUH07-46J | VUL07-66J
v 3 VUHO07-64A [ VUE07-44A [ VUHO7-64J | VUE07-44J
~ P P VUH07-66A | VUEO7-46A | VUH07-66J | VUEO7-46J
IR I, e T3t VULO5-44A | VUEO7-64A | VUL05-44) | VUE07-64J
VHOOO-VPJ VSOOOd-VPJ VYF¢D,-¢D, M i VUL05-46A | VUE0O7-66A | VUL05-46) | VUE07-66J
VHHO05-4M5J [ VHL15-802J | VSHO05-601J [VSL15-802) [VYF44M  [VYF66M VYB11 [
VHHO05-601J | VHL15-1002J | VSH07-601J | VSL15-1002J
VHHO07-601J | VHL15-1202J [ VSH10-601J | VSL15-1202J
VHH10-601J | VHL20-1002J | VSH10-801J | VSL20-1202J
VHH10-801J | VHL20-1003J | VSH12-601J | VSL20-1203J
VHH12-601J | VHL20-1202J | VSH12-801J | VSE07-601J
VHH12-801J | VHL20-1203J | VSH15-802J | VSE10-601J VUIE]TE FE EILEER
VHH15-802J_| VHEO7-601J_| VSH15-1002J | VSE10-801J VU Holder e e
VHH15-1002J | VHE10-601J | VSH20-1202J | VSE12-601J v
VHH20-1002J | VHE10-801J | VSH20-1203J | VSE12-801J Concentrated
VHH20-1003J | VHE12-601J | VSL05-601J | VSE15-802J
VHH20-1202J | VHE12-801J | VSL07-601J | VSE15-1002J P
VHH20-1203J | VHE15-802J | VSL07-801J | VSE20-1202J b oeme | P EX
VHLO05-4M5J | VHE15-1002J [ VSL10-601J | VSE20-1203J
VHLO05-601J | VHE20-1002J | VSL10-801J l I, HIH
VHL07-601J | VHE20-1003J B vugooo-P vuooo-pJ
VHL07-801J | VHE20-1202J VUKO05 [ vuko7 VUHO05-4A VULO5-6A VUH05-4J VULO05-6J
VHL10-601J | VHE20-1203J VUH05-6A | VULO7-4A [ VUHO05-6J [ VUL07-4J
VHL10-801J VUHO7-4A | VULO7-6A | VUHO07-4J | VULO7-6J
VUHO7-6A | VUEO7-4A | VUH07-6J | VUE07-4J
VUL05-4A VUEO7-6A VUL05-4J VUEO7-6J

/Mmindman




FERE A=A

PISCO

b e

oA B

=]
[afa]

INRVETE
:
B B A B EEE R Epwsmakn P | mme e
Union Straight Straight S {2 eREY HER S (A 2R A EeRAl
P P Pad Direct-Mounting Pad Direct-Mounting Pad Direct-Mounting
EX EX Air Supply Concentrated Exhaust Elbow
~ ~N Port Elbow Air Supply
v il \ Port Elbow
i EX
: P
p . OELNE poeue v |y v v
U=l By U U ity
vumoo-ve vuoaoo-ved veoaomn-vPL veonon-vPLd vMoom-ve
VUMH03-1803] VUML04-33 | VUMH03-M33 | VUML04-M53 | VCH07-016L | VCL15-0210L | VCHO07-016LJ | VCL15-0210LJ [ VMH03-M53 | VML03-M53
VUMH03-1804| VUML04-34 | VUMH03-M34 | VUML04-M54 | VCH07-018L | VCL15-0310L [ VCH07-018LJ | VCL15-0310LJ [ VMH03-M54 | VML03-M54
VUMH03-33 | VUML04-43 | VUMH03-M53 | VUMLO05-M33 | VCH10-016L | VCL20-028L [ VCH10-016LJ | VCL20-028LJ | VMH04-M53 | VML04-M53
VUMH03-34 | VUMLO04-44 | VUMHO03-M54 | VUMLO05-M34 | VCH10-018L | VCL20-038L [ VCH10-018LJ | VCL20-038LJ | VMH04-M54 | VML04-M54
VUMH03-43 | VUML05-33 | VUMH04-M33 | VUMLO05-M53 | VCH12-016L | VCL20-0210L | VCH12-016LJ | VCL20-0210LJ [ VMH05-M54 | VML05-M54
VUMHO03-44 | VUML05-34 | VUMH04-M34 | VUMLO05-M54 | VCH12-018L | VCL20-0310L | VCH12-018LJ | VCL20-0310LJ [ VMH05-M64 | VML05-M64
VUMH04-1803] VUML05-43 | VUMH04-M53 | VUME03-M33 | VCH15-028L | VCE07-016L | VCH15-028LJ | VCEO07-016LJ
VUMH04-1804| VUML05-44 | VUMH04-M54 | VUMEO03-M34 | VCH15-038L | VCE07-018L [ VCH15-038LJ | VCE07-018LJ
VUMH04-33 | VUME03-1803] VUMH05-M33 | VUME03-M53 | VCH15-0210L | VCE10-016L | VCH15-0210LJ| VCE10-016LJ
VUMH03-34 | VUME03-1804| VUMH05-M34 | VUME03-M54 | VCH15-0310L | VCE10-018L | VCH15-0310LJ| VCE10-018LJ
VUMH04-43 | VUME03-33 | VUMH05-M53 | VUME04-M33 | VCH20-028L | VCE12-016L | VCH20-028LJ | VCE12-016LJ
VUMH04-44 | VUMEO03-34 | VUMH05-M54 | VUMEO04-M34 | VCH20-038L | VCE12-018L [ VCH20-038LJ | VCE12-018LJ
VUMH05-1803{ VUME03-43 | VUMLO03-M33 | VUME04-M53 | VCH20-0210L | VCE15-028L | VCH20-0210LJ| VCE15-028LJ
VUMH05-1804| VUME03-44 | VUML03-M34 | VUMEO04-M54 | VCH20-0310L | VCE15-038L | VCH20-0310LJ| VCE15-038LJ
VUMH05-33 | VUME04-1803) VUML03-M53 | VUME05-M33 | VCL07-016L | VCE15-0210L | VCL07-016LJ | VCE15-0210LJ
VUMH05-34 | VUMEO04-1804| VUML03-M54 | VUMEO5-M34 | VCL07-018L | VCE15-0310L | VCL07-018LJ | VCE15-0310LJ
VUMH05-43 | VUME04-33 | VUML04-M33 | VUME05-M53 | VCL10-016L | VCE20-028L | VCL10-016LJ | VCE20-028LJ
VUMH05-44 | VUMEO04-34 | VUML04-M34 | VUME05-M54 | VCL10-018L | VCE20-038L | VCL10-018LJ | VCE20-038LJ
VUMLO03-1803( VUME04-43 VCL15-028L | VCE20-0210L | VCL15-028LJ | VCE20-0210LJ
VUMLO03-1804| VUME04-44 VCL15-038L | VCE20-0310L | VCL15-038LJ | VCE20-0310LJ
VUMLO03-33 | VUME05-1803]
VO VONEoe e TE JEE E?ﬁ EUSY HELEREEN EER g
- VUMIE E B2 % 3E0 2z 9EN T L AL NG A
VOO 503 VO 45| " B p|EEaRA L p|ED
Pad Direct-| Mountmg Pad Direct-Mounting Straight Pad Direct-Mounting
VUMLO04-1804| VUME05-44 Straight Concentrated Straight
Exhaust EX
e } Q
€ P ‘
i
\% EX \% \%
veooa-veC vcon-vPcJd veaooo-ve
VUKO04 | VCHO07-016C | VCL15-0210C | VCH07-016CJ | VCL15-0210LJ | VCH03-M53 | VCL03-M53
VCHO07-018C | VCL15-0310C | VCH07-018CJ | VCL15-0310LJ | VCH03-M54 | VCLO03-M54
VCH10-016C | VCL20-028C | VCH10-016CJ | VCL20-028CJ | VCH04-M53 | VCL04-M53
VCH10-018C | VCL20-038C | VCH10-018CJ |VCL20-038CJ |VCHO04-M54 |VCL04-M54
VCH12-016C | VCL20-0210C| VCH12-016CJ | VCL20-0210LJ | VCH05-M54 | VCL05-M54
VCH12-018C | VCL20-0310C | VCH12-018CJ | VCL20-0310LJ | VCHO05-M64 | VCL05-M64
VCH15-028C | VCE07-016C | VCH15-028CJ | VCE07-016CJ
VCH15-038C | VCE07-018C | VCH15-038CJ | VCE07-018CJ
VCH15-0210C| VCE10-016C | VCH15-0210CJ | VCE10-016CJ
VCH15-0310C| VCE10-018C | VCH15-0310CJ | VCE10-018CJ
VCH20-028C | VCE12-016C | VCH20-028CJ | VCE12-016CJ
VCH20-038C | VCE12-018C | VCH20-038CJ | VCE12-018CJ
VCH20-0210C| VCE15-028C | VCH20-0210CJ | VCE15-028CJ
VCH20-0310C| VCE15-038C | VCH20-0310LJ | VCE15-038CJ
VCL07-016C | VCE15-0210C| VCL07-016CJ | VCE15-0210CJ
VCL07-018C | VCE15-0310C| VCL07-018CJ | VCE15-0310CJ
VCL10-016C | VCE20-028C | VCL10-016CJ | VCE20-028CJ
VCL10-018C | VCE20-038C |VCL10-018CJ |VCE20-038CJ
VCL15-028C | VCE20-0210C| VCL15-028CJ | VCE20-0210CJ
VCL15-038C | VCE20-0310C| VCL15-038CJ | VCE20-0310CJ

/M mindman



	1_規格
	2_訂購代號
	3_訂購代號



